el I DRI e By AT PR 23 w)
'] (2) BERABB AR (HIRME)E )

—, EEERE
e papravara.
fERER RS L 0%
1BV EFRRS 4. 5%

—.\ AERY

(=) AR RE: BAHLARERKERRA.
R e A TE AR B B B9 AF B A L R B R T % R T AT PG 45

O
AT 100%)  90% 80% 70% 60% 50%
WEZREZ 1.0] 0.93 0. 87 0. 80 0.73 0. 67

(=) 171 (R v RBFRERRK: ETEERRER
A R AE AR BTV B 8947 & A L = B BT 5% T

B E
RIEH (FT/AD BWERHK

500 K LAk 0. 78

(300, 500 [0.89, 0.78)
(200, 300) [0.94, 0.89)
[100, 200) [1.00, 0.94)
[50, 100) [1.04, 1.00)
[0, 50) [1.08, 1.04)




(=) ERABITRERE: 2BEIOHEREERA,
TR AAE AR B BB 6 4 L B9 [T 38 R 0 T A o

N

o
FIEE (FT/AD BERHK
3000 & A [0.75, 0.5]
[2000, 3000) [0.82, 0.75)
[1000, 2000) [0.90, 0.82)
(500, 1000 [0.95, 0.90)
[0, 500) [1.0, 0.95)

(W eBREAERAK: REBELFRFERELE=F
JEAT Ry F A, ABEMRNEABRK, T=FBFEE
B, REFTELRBARATHAERBIRE, TLET

FaBWMAEN, WAKREN].

W= AR WE R UK
30% K LT (0.7, 0.9]
30%~60% (0.9, 1.0]
60% % LA+ (1.0, 1.3]

() NHORERHK

AN# E-F%
50 AL E (0.7, 0.6]
10 A~49 A (0.8, 0.7)
3 A~9 A [0.9,0.8)




2 NFEULT 1

GO BREAFRBERS: REFERR AFRHAT
MR 2 R HR, SRE A B o BRI AR SRR B R LR R K
BE. Sl ERETH, ZREE7F AL R EER
HAE

FH B EERHK
0-15 (&) A # (3.0, 1.0]
16-30 (&) A % (1.0, 1.2]
30-40 (&) A & (1.2, 1.4]
40-50 (&) B & (1.4, 2.5]
50-65 (&) Bl & [2.5,3.5]

Er HAREAFRNAEERHSR (8) E65HLZ (&)
() St RRILAERE: SRR TR R R
BRI A 2RO ILH

AR A 2R IR R WE R
P i s e g o [1.0,3.0]

E 5 A E RE AR BT RE S R & 0.95
EET R

B 5 AR IR T A A = 7 30 B = 7 R 0.9
E5 i T RE 0. 85

B % fm b AR Bt X [0.85,0.95]




2w DA b T e A R P T E DL b

0.8

O\ ERET ke FRE R ERET KRR
HERABERRRATFAHAERETRESFANHR. &F
HAERETRE TN ERREANEH, EHGEEHR

R R IR B

R & 5 LEZS:
2000 75 2.0
5000 7T 1.5
10000 7 1.0
20000 75 0.7
50000 JG 0. 45
100000 7T 0.4
150000 7T 0.3

G TR VETRE 2 FORE R K.

T(ROVENTRE 2 FEERZEEERRAFHT(R)
PETRE2FADNFHE . EFH] () D ETRR T
A B RSN B e B, 15 R 4 (B vk o R R B R R BUE

R 3 HERK
2000 TG 1.2
5000 7T 1.0
10000 7T, 0.7
20000 TG 0.5




50000 7T

0.35

100000 7©

0.2

() BLEE R %

AREARE R AR 7 RRIHATHE 25, FREA
7 B A OB BR O W O R R R B . R AR LR
DA R A 0, BRI AN R RFF L0, HRER

BEEA 1,
Rk 25 A LEZS
1~5 % [0.5,1.5]
6 KK E (1.5,3.0]

(+—) BRARERK: BRARBZRTE, K
fRio NBY IR R IL AT SR A0 fh, ARETFEER, #

R R BUE,
N & 22 KR B R4
AR K RIS A B AT 4T [0.7, 0.9]
ARAF AR R A B2 R ACF — &% (0.9, 1.1]
BRI R A B RATRE (1.1, 1.3]
(+=) M EEE R

W45 B R4

[REAEREEA 1

A IR 1.5

= FZEWHELR




FH AR ARREF=RE 2 X FEEFE XL
RRERK

Hb, RRFWEAR=EANETHAER 2N

ERE S =8 — R ARG 57

0. FEEiER

HRH BRI E AR,



